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Mr. Dutta desired to deposit his retirement benefit of Rs 3 lacs partly to a post
office and partly to a bank at 10% and 6% interests respectively. If his monthly
interest income was Rs 2000, then the difference of his deposits in the post
office and in the bank was : :
t AT A AU TR FT 3 TG TAT FT ATH A AR TT F TF STHAL A A TH dF |
H ST FIAT g SATST Y I FAM: 10% 3T 6% g , TT< AT SATST 0 2000 T3 <, |
AV STHFAC AT S/ § ST TIA FT AAT A AT :

(1) Rs 50000
(2[Bs 40000
(3) nil

(4) Rs 100000
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' : SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES :

12 18 men or 36 boys working 6 hours a day can plough a field |
in 24 days. In how many days will 24 men and 24 boys
working 9 hours a day plough th same field ?
18 U AT 36 ASHI A 6 W TF A H FH L 24 e HF U €@ |
A TFA . A T A 24 Ui iR 24 s 9 seuw famr |

T TF Bl @ S HTH QA ? (1) 9
2) 10
(3) 6
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Two cars A and B travel from one city to another. At speeds of 72
kmph and 90kmph respectively. If car B takes 1 hours lesser than
can A for the journey, then what is the distance (in km.)between the
two cities?

A FR A M T TF M T AL AT H ATAT FQ gl FALT: 72 et wiq =i
AT 90 FFft afg ae Frwfq &, AT FRBIETF RITA & 189 F
AdT B, ar 14T 0 g (T H.) <1 g & =2

(1) 270
(3) 240
(4) 400
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_ 1
!f n=7 + 4 /3, then the value of (\/ﬁ + \/—ﬁ)

IS
[T T X

(2) 4
(3) 4
(4) -2V3
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a+b= 3 , then a3+b3+9ab-27

https://t.me/MathbySuryaveersir



The base of a triangle is 12 V3 cm and two angles at the
base are 30° and 60° respectively. The altitude of the
triangle is

Preror T e 12 V3 cm TYT STET 9T &7 R0 HHALA: 300
AT 600 g1 BT T F9TS 2

(1) 24
3) 9
4) 27
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Two circles of diameters 10cm and 6¢cm have the same
centre. A chord of the larger circle is a tangent of the
smaller one. The length of the chord is

g 7 S =1 10cm ik 6cm RSewTFg aa= 8. 98 99
Y ST e Fa it TqF X@T g qv Star i TS 71 w2

(1) 4cm
(3) 6cm
(4) 10cm
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Circumcentre of APQR is O. If Z QPR =559 and £
QRP =75° what is the value in degree of ~ OPR?

TR&= APQR FTo0 8 Z QPR =55° 3k £ QRP =750
ar T £ OPR?

(1) 45

(3) 65
(4) 70
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=~ The perimeter of a triangle is 54 m and its sides are in the
7 ratio of 5:6:7. The area of the triangle is .
uF FAraror it affer 54 Hiex g 3 39 987 5:6:7 F ATATT |
R EEIL IR ER

(1) 18 m?
mZ

(3) 27 v2m?

(4) 25 m?
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B\ SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES :

1 ()The entry ticket at a fun park was increased in the ratio 7 : 9, due to which
footfalls fell in the ratio 13 : 11. What is the new daily collection (in Rs), If the
daily collection before the price hike was Rs. 2275007
ﬁwﬁmw@%@ﬁw%g\wﬁ7 9 & HTUTT H ez = ordah HILr ATSHI ol G&AT
T 13:11 % quTa A FHY o) TR A a1t 741 Fowe= (T4 H) AT e afe
WW%WWZZMOOWWWW@HTW :

(1) 237500

(2) 247500
(3) 232500
(4) 242500
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' : SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES :

11 The difference between simple and compound interests
compounded annually on a certain sum of money for 2
years at 4% per annum is Rs. 144. The sumis __

o At Tfr a3 2 aut F forg 4 yiaea arfdes e a arfv=s
] § GO A a7 FTETIOT SATST AL TAhg T ATl 7 (A<

144 ¥. g T - g
(1) 18000

(2) 60000
(3) 90000

(4) 270000
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12 Aisthrice as good a workman as B. C alone takes 48 days to paint a house.
All three A, B and C working together take 16 days to paint the house. It will
take how many days for B alone to paint the house?
A, B & T&AT ¥ {19 AT ST=3T FIRC 21 C AFA Th Th T ! Y+ FEA & (T 48
RO F AT AT TH AT FH FQA Y B C ST A A= FAH 16 e Aar |
g1 S T HT A€ FiA & 1T et B T fhaer foer i ar?

(1) 32

iZE 64

(4) 72
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13 find the mean, mode ,and median ,for the
following data/STTd ¥ ATET , g ,ATETHT ?
13,18,13,14,13,16,14,21,13

513,14 ]

2)15,14,14
3)12,13,15
4)12,14,13
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14 7T
> — radian is equal to@?ﬂ’q {19 JTd DY 2
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x*+5x34+3x%+5x+ 1?
xt+1 ]

15 If x+§ = 3, then what is the value of
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| 16 If 3x+ [1/(5x)] =7, 5x/(15x2+15x + 1) = ?
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(1) 1875
(2) 2525
(3) 2530
(4) 3120
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_ 18 Find equwalent discount of three successive
discount of 1 6— %,

14—%20%
H‘q@wagrma%?

(1) 14 %,
(2) 422 %,

(3) 25%
(4) 12.5%
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